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Supplement to Section 2.3: Pursuit Problems

A. Aperson P, starting at the origin, moves in the direction of the positive x — axis, pulling a weight
along a curve C as shown in the figure below. The weight, initialiy located on the y —axis at (O, s) .18

pulled by a rope of constant length s which is kept taut throughout the motion. Determine an equation
for the path of motion C. (Hint: The rope is always tangent to C'.)

B. Four flies initially sit at the four corners of a square table, facing inward. At the same instant, cach fly
begins walking at the same rate toward the fly on its right. Find the path that each fly follows. (Hint: The
line-of-sight for a pursuing fly is always tangent to the path of the pursuer.)



